TIME TABLE 2024-25

B.sc. Bed

TIME CLASS	10.00 TO 11.00	11.00 TO 12.00	12.00 TO 1.00	1.00 TO	1.30 TO 2.30	2.30 TO 3.30
B.Sc FIRST SEMESTER & B.ED IST YEAR	Zoology/ Physics	Botony/Maths	Chemistry	1.30	CHILDHOOD & GROWING UP(1-6)	CONTEMPRORY INDIA AND EDUCATION(1-3) Guidance & Counceling (4-6)
ROOM NO.	101/201	101/201	101		101	101
FACULTY NAME						
B.Sc Third Sem.& B.Ed 2 nd Year	Botony/Maths	Chemistry	Zoology/ Physics		Action Research(1-3) Yoga &Sports(4-6)	Lenguage Across Curriculm (1-3) Learning & Teaching(4-6)
ROOM NO.	102/202	102	102/202		102	102
FACULTY NAME						
B.Sc Third YR& B.Ed 3 rd Year	Chemistry	Zoology/ Physics	Botony/Maths		Gen .Study	Knowledge &Curriculm
ROOM NO.	203	203/204	203/204		/311	Mr. Ratnesh Karanpuriya
FACULTY NAME						

TIME TABLE 2024-25

B.A. Bed

TIME CLASS	10.00 TO 11.00	11.00 TO 12.00	12.00 TO 1.00	1.00 TO 1.30	1.30 TO 2.30	2.30 TO 3.30
B.A FIRST SEMESTER & B.ED IST YEAR	Geography /Hindi Lit.	English Lit./Sociology/History	Political Sc./Sanskrit Lit.		CHILDHOOD & GROWING UP(1-6)	CONTEMPRORY INDIA AND EDUCATION(1-3) Guidance & Counceling (4-6)
ROOM NO.	209/311	206/209/311	209/206		101	101
FACULTY NAME						
B.A Third Sem.& B.Ed 2 nd Year	English Lit./Sociology/History	Political Sc./Sanskrit Lit.	Geography /Hindi Lit.		Action Research(1-3) Yoga &Sports(4-6)	Lenguage Across Curriculm (1-3) Learning & Teaching(4-6)
ROOM NO.	206/207/205	207/205	311/205		102	102
FACULTY NAME						
B.A Third YEAR.& B.Ed 3 rd Year	Political Sc./Sanskrit Lit.	Geography	English Lit./Sociology/History		Hindi Lit/ Gen .Study	Knowledge &Curriculm
ROOM NO.	302/303	302	303/302/304		304/311	Mr. Ratnesh Karanpuriya
FACULTY NAME						

TIME TABLE 2024-25

B.Ed (Fourth Year)

TIME CLASS	10.00 TO 11.00	11.00 TO 12.00	12.00 TO 1.00	1.00 TO 1.30	1.30 TO 2.30	2.30 TO 3.30
B.Ed (Fourth Year)	Assesment of Learning Drama Amd Art	Understanding ICT and Its Applicatin	Understanding The Self			
Room no	307	307	307			
Faculty Name						

APC COLLEGE , PRATAPGARH TIME TABLE 2024-25

B.C.A

TIME CLASS	10.00 TO 11.00	11.00 TO 12.00	12.00 TO 1.00	1.00 TO 1.30	1.30 TO 2.30	2.30 TO 3.30
B.C.A FIRST SEMESTER	IT, PC TOOLS.	C PROGRAMMING	DIGITAL ELECTRONIC LOGIC		MATHS	
ROOM NO.	LAB /103	103 /LAB	308		308	
FACULTY NAME						
B.C.A Third SEMESTER	D.S And ALGORITHAM	DATA BASE MANAGEMENT	DYNAMIC WEB DESIGN		COMPUTER ORIENTED STATIC	PRACTICAL WORK
ROOM NO.	103/ LAB	308	103/LAB		103	LAB
FACULTY NAME						
B.C.A Third YEAR.	SAD/NET WORKING	ELECTIVE PHP/PROJECT /E-COMMERCE	DS USING C++		JAVA	PROJECT
ROOM NO.	308	LAB/103	LAB/103		LAB	LAB
FACULTY NAME						

TIME TABLE 2024-25

B.sc

TIME CLASS	10.00 TO 11.00	11.00 TO 12.00	12.00 TO 1.00	1.00 TO	1.30 TO 2.30	2.30 TO 3.30	
B.Sc FIRST SEMESTER	Zoology/ Physics	Botony/Maths	Chemistry	1.30	HINDI COMPULSORY	G.K CLASS FOR COMPETATIVE EXAM	
ROOM NO.	101/201	101/201	101		ROOM 209	209	
FACULTY NAME							
B.Sc Third Sem	Botony/Maths	Chemistry	Zoology/ Physics				
ROOM NO.	102/202	102	102/202		PRACTICAL		
FACULTY NAME							
B.Sc Third YR	Chemistry	Zoology/ Physics	Botony/Maths				
ROOM NO.	203	203/204	203/204				
FACULTY NAME							

TIME TABLE 2024-25

B.A

TIME CLASS	10.00 TO 11.00	11.00 TO 12.00	12.00 TO 1.00	1.00 TO 1.30	1.30 TO 2.30	2.30 TO 3.30
B.A FIRST SEMESTER & B.ED IST YEAR	Geography /Hindi Lit.	English Lit./Sociology/History	Political Sc./Sanskrit Lit.		HINDI COMPULSORY	G.K. CLASS FOR COMPETATIVE EXAM
ROOM NO.	209/311	206/209/311	209/206		ROOM 209	ROOM 209
FACULTY NAME						
B.A Third Sem.& B.Ed 2 nd Year	English Lit./Sociology/History	Political Sc./Sanskrit Lit.	Geography /Hindi Lit.		GEO GRAPHY	PRACTICAL
ROOM NO.	206/207/205	207/205	311/205			
FACULTY NAME						
B.A Third YEAR.& B.Ed 3 rd Year	Political Sc./Sanskrit Lit.	Geography	English Lit./Sociology/History			
ROOM NO.	302/303	302	303/302/304			
FACULTY NAME						